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QUESTION 1

Which of the following are the functions that can be achieved after building a distributed cloud application using cloud
middleware? (Multiple choices) A. Open and compatible, strong scalability

A. Dynamic and static separation: The traffic of dynamic pages is separated from the traffic of static pages
B. Databases and tables

C. System decoupling

D. Can accurately predict system performance and capacity

Correct Answer: ABCD

QUESTION 2

A Pod can contain multiple containers in Kubernetes. () [Multiple choice questions]
A. True

B. False

Correct Answer: A

QUESTION 3

What is wrong with the following description of Kubernetes?

A. Kubernetes is Google\\'s open source container cluster management system, built on Docker technology
B. Kubernetes cannot manage the life cycle of containers Correct

C. Kubernetes provides cross-node service discovery and load balancing

D. Kubernetes\\' self-healing mechanism makes container clusters always run in the state that users expect

Correct Answer: B

QUESTION 4

Regarding the difference between stateless and stateful applications, which of the following statements are true? ()
[Multiple choice questions]

Option Subtotal Proportion
A. Stateful applications need to remember the specific user who initiated the request

B. Stateful applications can achieve better scalability through code transformation
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C. Stateless applications have 100% more power than stateful applications Have higher performance
D. Stateless applications can be deployed in containers more easily

Correct Answer: ABD

QUESTION 5

What are the following characteristics of microservices?

A. Small: small granularity and focus on one thing

B. Independence: separate process

C. Light: Lightweight communication mechanism, HTTP / REST
D. Loose interface: loosely coupled and independently deployable

Correct Answer. ABCD
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